[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015

,.,.

LLARS RAREY LALAN RALLN LALE REARE RALAN RARAN RRALE LARR

-
0.01
0.005
o 1. L
= -t
g - :‘IP
At - S ¥ B3 T
T -
0.95— : n :
10° 10° 1
TP vertr (cm
—_— 5 Il\V/i::TI: E{OT'IFLNeEm\}\_II Vf ujt_s ecPLessl ow t
ficiend —— BOUkECHNEce Sl
@:DMmFt NEWd -lowpt

~ 0.05

9.045(H

4

> 0.04fH}

oy

9.0350

5]

£ 0.03f+

[}

0.025
0.028- |-t

0.015f -+
0.02fHE--H -

0.005fft{-----¢-

Ratio

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

............................................

................

IIllllllI!II_I_I_!_I_I*.H_LLI_'_I.IIIIIIIIIIIIIIIIIIIIIII
L —H—
: gs s

-
(@)
¥

A

T

o 0g : :

= A g g

@ H T .

o 1.05g- T b
15 = o TR
1

LO 15 20
Sim. PV z (cm)



	Contents
	Page 1


